INSTALLATION MANUAL
V4R Tuono 2011-
MRA-Klement GmbH + Siemens Str. 6 + D-79331 Teningen
Tel.: +49 7663 9389 0 + Email: info@mra.de

:‘i‘?

o
[ A A g &) '?5
MOTORCYCLE WINDSHIELDS £

Thank you for buying a MRA Windshield.
Read this manual carefully and check the parts list for completeness before you begin. We recommend that you have

your screen fitted by an authorised workshop.

Required Tools:
e 1 MRA screen e Allen key 3mm
- 1 edge protection strip e Allen key 4mm

- 2 clamp sleeves

e Installation kit:
- 2 fixing sheets
- 3 rubber nuts, M5
- 2 spacers, 15 mm
-2 screws, M5 x 16
- 1screw, M 5x 20
-2 screws, M 5 x 30
- 3 plastic washers
-1 rubber spacer, 4 mm

1. Position the motorcycle on a level surface.

2. Unscrew the screw on the front of the windshield (P1).

3. Remove both screws on the fairing (P2). Lift the fairing from the locking mechanism and remove the
windshield rearwards (P3).

4. Reposition the fairing into the locking mechanism and refasten both screws (P2).

5. Switch the original rubber nut (M4) with the M5 rubber nut (P4) provided.

6. Moisten the rubber nut for easy installation — do not use grease or oil!

7. Install the fixing sheets included using the screws M 5 x 30 and the spacer 15mm (P4 + P5).

8. Put the two rubber nuts through the fixing sheets (P6).

9. Insert the screw M 5 x 20 with the plastic washer in the front hole and position the rubber spacer on

the screw from the inside.

10. Position the windshield and fix it with the pre-installed screw in front and both screws M 5 x 16 and
plastic washers in the rear holes.

11. Check all screws for tightness.

12. Pull the edge protection profile onto the rear, exposed area of the windshield, beginning at the
changeover of the fairing up to the opposite side. Cut the remaining part if necessary.

13. Place the clamp sleeves onto the ends of the edge protection profile and press them slightly using the
flat nose pliers so that the edge protection profile is clamped.

After installation, check that all of the screws are tight; tighten them up if necessary. Repeat this at regular intervals.
Clean the screen with water, neutral soap and a sponge. Do not use solvents, alcohol or spirits to clean the screen as
they will damage it.

© by MRA-Klement GmbH — 05/2012







